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NAME AH (keal f mory 25 (keal/ deg
mol)

Hydrogen - 68.3 31.2
Water (liquid) —68.32 16.72
Sodium chloride —98.2 17.3
Potassium -104.17 19.76
chloride
Clcium .
Carbonate - 288.45 22.2
Carbon 0.45 0.58
Carbon ~26.42 47.3
monoxide
Carbon dioxide -~ 94,05 51.06
Carbonic acid -167.22 44.8
Nitrogen -2.52 228
Ammonia —11.02 46.03
Nitric acid -41.40 37.19
Phosphoric acid - 307.9 37.8
Oxygen - 2.89 26.5
Sulfur -~ 0.07 7.78
Sulfuric acid - 216.90 4.1
Chlorine -40.02 13.2
Hydr'ogen - 22.06 44.62
choride
Iodine - 14.88 62.28
Methane —-48.10 56.8
Ethanol - 66.20 38.49
Glycerol - 160.3 48.9
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Acetaldehyde -50.75 30.9
Acetone -58.99 47.5

Duia (V—0) ) Jsoa

AH (kcal / AS (kcal / deg

NAME mol) mol)
Acetic acid —-115.73 38.2
Butyric acid -~127.9 54.1
Succinic acid -~ 218.02 64.4
Fumaric acid -185.2 62.4
Lactic acid —-164.01 53.0
Citric acid -~ 364.7 78.7
Pyruvic acid -~ 145.2 43.0
Glucose - 304.60 50.7
Sucrose - 531.0 96.5
Glycine -128.4 24.47
Alanine —-1345 30.88
Valine - 147.7 42.7
Leucine -~ 154.6 50.10
Cysteine -127.3 40.6
Cystine - 249.6 57.60
Hethionine - 178.0 55.32
Aspartic acid —-232.44 40.66
Glutamic acid ~241.2 44.98
Arginine —148.6 59.9
Creatine -128.2 45.3
Glucose—1 -

- 427.7 -
phosphate
Glucose — 6 — _4296 _
phosphate
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- 3300
Logkeq = 363 =2.42
Keq = antilog 2.42
=2+ 0.42
= 10% x 2.63
keq =263 M
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Sucrose + H,0 — glucore + Fructore
AG = —7.0 keq / mole
= 7000 cal / mole

— 7000 =-1363 log keq

— 7000
logkeq = —1363 _ 513
keq = antilog 5.13 = 1.33 x 105 M

molate @ ——  Funarate + H20
AG = + 0.7 kcal / mole
750 cal / mole
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AG =-1363 log keq
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-3 butyric acid grycero
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JATP For 3
butyric Acids '[ r
pyruvate INADH,
ETS
l 7 lectron Transport
stem
Nf‘DHl getﬁ 2 ATP
6 ATP -l ATP
3 ATP 1 For glyceratlenisns
12 ATP TATP
Totalnet =3+ 12 +6 + 1 = 22 ATP
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5 FADH, 3 NADH, 6 acetyt Co A

Krebs cycle and ETS

lETS

Sum =6+9+72 = 87 6x12 = T2ATP
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S84

Totalnet =84 +22 =106 ATP

Ve85




s pidl oAS" U1y (energy rich) Gkl Lalt oS U an (Y-0) oy Jytr
Segel, 1968+ .(energy poor) ikl

AG Jea Ll G,
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~3~7 InorganicP -P Pyrophosphate
-10  ATP Adenosine Triphosphate
-7 ADP Adenosine diphosphate
— 10  Acetyl Phosphate Acyl Phosphate
—12 1, 3 dphosphoglyceric acid ‘
-8 Acetyl Co A Thioester
-12 PEP Enolic Phosphate
- 10 Creatine Phosphate Guanidinium Phosphate
-2  AMP Adenosine monophosphate
-3 Glu-6-P glucose — 6 — Phosphate
-3 Fru-6-p Fructose — 6 — phosphate
Fe'? +e > F*? L (e0-9)
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Ractio E, at
n Half-Reaction (Written as a Reduction) pH 7.0
{volts)
1 -
1 —?:02+ 2H'+2e" > H,0 0.816
2 Fe*’+1e” — Fe* 0.771
1 -
3 —2—02+ H, 0+2e” - H,0, 0.30
4 cytochrome o-Fe™ + 1¢~ — cytochrome—a - Fe*? 0.29
5 cytochrome -c- Fe+ e~ — cytochrome-— ¢ — Fe*? 0.25
6 2,6-dichlorophenolindophenol, o+ 2H' +2¢€” =2,6~DCPR, 0.22
7 crotonyl-CoA + 2H'+ 2e™ — butyryl- CoA 0.19
8 methemoglobin- Fe**+ 1~ — hemoglobin—Fe* 0.139
9 Upiquinone + 2H" + 2e” — ubiquinone~H, 0.10
10 dehydroascorbate + 2 H* + 2e™ — ascorbate 0.06
1 metmyoglobin-Fe*’+ 1e™ — myoglobin— Fe*! 0.046
12 fumarate + 2 H'+ 2e” — succinate 0.030
13 FAD +2H'+2e” — FADH, -0.06
14 oxalacetate + 2H* + 2e™ — malate -0.102
15 Pyruvate + NH,+ H"+ 2e~ — alanine -0.13
16 a—ketoglutate+ NH3 +2H +2¢7 —)gluatmat&Hzo -0.14
17 acetaldehyde + 2H*+ 2e~ — ethanol -0.163
18 pyruvate + 2 H"+2e” — lactate -0.190
19 ribofkavin +2H"+2e” — riboflavin- H, -0.200
20 1,3-diphosphoglyceric acid + 2ZH" + 2~ — GAP+P, -0.29
21 acetoacetate + 2H* + 2e” — f— hydroxybutyrat -0.290
2 a DPN'(NAD')+2H*+2e” —» DPNH(NADH)+ 4320
B DPN*(NAD' )+2H" +2¢” - DPNH(NADH)+ H* -0.320
23 Pyruvate + CO2 +2H"+2e” — malate -0.33
24 uric acid + 2H"+ 2 e~ — xanthine -0.36
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. E,at
Ractls Half-Reaction (Written as a Reduction) pH 7.0
' ' (volts)
25 - acayl-CoA +2H'+ 2e” — acetaldehyde+CoA -0.41
26 CO,+2H"+2e” — formate -0.420
I
27 H +le” - EHZ -0.420
28 Ferredoxin— Fe**+ e — ferredoxin— Fe™ 0432
29 acetate + 2 H'+ 2e” — acetaldehyde -0.60
30 Acetate CO,+2H"+2e™ — pyruvate -0.70
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AE = E'of half — F of half
reaction contriving  leacction contriving
oxidinying agent leduceing agent
(0,) (NADH;)
AE' = 0.8 -~ (-0.3) =0.8 + 0.3
AE 1.1 Volt / mole
AG= —nFAE
= —2(23000) x 1.1
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= 50.6 kcal / mole

Cytochrome_ ! NADH; [« ——

AE = 0.3 - (- 0.3) = + 0.6 Voit / mole
AE ==2 x 23000 x 0.6 = 27.6 kcal / mole

AG’ = =nF AE, (°1-9)
sl D 4 i a AGY Sy
Al Gliy 2SN 2 A n oy
. 23000 cal / volt (ol (5t 4 s s F o)y
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AG', = FE, of half Reaction containing oxidizing agent -
E'; of half Reaction containing reducing agent (cY-¢)
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AE's = E'; of Reduction E', of oxiding ..(°A-2)
reaction reaction
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NADH, - NAD + 2H* + 2eE, = —0.32 volt
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Fumarate + NADH,; — NAD* + Succinte e(11~0)

[ YIS (0A-0) Asledd Jlaxiuly ABY, canni 2

AE, = 0.03 - (—0.32)
AE, = 0.03 + 0.32

AF, = 0.35 volt
L.s:I:i”S (0"\"‘0) FIEPIAY JLu.'\.mL: 3‘);.“ AUal Cias ‘,::

AG = (—2)(23000) (0.35)

AG’ = 14000 cal / mole

055 AVl (2T=2)  (0+-0) laad (J g s 2o 43 S Laas
("t Y-¢)

- n FAE, = RT in Keq
Pt B Al 53 O %

~ FAE, =-2.3RT log Keq e {3T-0)
Phe M Al ) gad (f Sy LS
AE, = -23R1 log kegq cee(VE-0)
-nF

Q.‘ILLA Jl! Aalaall 224 _).;A::;::j

0.06
AE, = .06 log keq ....(10-0)
n
sl all 3 paally o Spell S I e g ding o3 Jelid Caail A0 faN) Al U
: SIS Nernst Cu i Ables (e lpbun (Sad (1M Cal) 3l e 380 5y

‘3‘%



o ®
E=E + 23RT n (ox1d.1zed Form) (11-0)
nF (rediced form)
glble ) sad
E=E, + 0.06 o (oxidized form) e(1V-0)
n (reduced form)
(4-0) Jue

(CH.F;) L lentropy 4y —lall <l S°727 5} pad a0 4
enthalpy— 4.4 )y (cal / mole / deg) 77.021 & Difluoromethane
oal ALl 8 sl s 14.746 Kceal / mole cilS

Sl
gAJ (V-o) FARIPA dLQ.I:Lu.LI

G =H-TS
(1000) (77.021) . )
G = (14.746) - Siaag pay gl
( ) (1000) y

G = 62.275 Kcal / mole
(Ys—0) JUa
3 A 3 e O ve AN e ol gl Jall s jall A8l sl sl
g o=l g ha Gesa (entropy) 4l siall dae Gy S 600 i 500
.55 cal / mole deg

Jadl
A3 (Y1-0) Ayl Aol Jlasinly
AS = —SAT

100,@1




AG = —(55) (600 — 500)
AG@ =-=55 > 100 cal / mole.

AG =~5,5K:al / mole
(YV-0) gl
Ladic GAlS300 50 a day asledl e 2ty Jsad 5all dial 4 sl
(g3 bua 0.1 g hia | e hiall iy W sy
Gl
A (TY—0) sladl Jlanio’,

AG=RTum —lz
P

:‘;‘;Yl Giany ol Yy gad 2ic g

0.1

AG = (1.987) (300) (23) log —

n

AG = —137 cal / mole
AG = —1.373 keal / mole
(YY-2) Jla
S 5> 2 iia; °a37 5 ! daju aslel e 2al g s @ntropy L sdall Cal
.L‘s\j
)

o3 {TA—0) el Alalaad Jlaxind

§=23R (% .o M + % log T - log P -o.so)

f ! Daa AE WY ey sl e
3 5
$(23)(1.987) 3 log4+ > log 310~ log 1~ 0.50
S = 12.12 Cal / mole /* deg

1o 8




® : - e
(Yr-e) Jua

ol ey giwidl s ay 55850 ) Lol glucose — 6 — p Sl Jlady Lovie
glucose —_Sull 3€ 5 of pasil .2 3831 a Laa (4 (2.1) Jilxi Keq 2
-S55(0.001 M) 58 all 5,S0<H 58 5 Ly (.01 M) 2 Sl 46 -p
(AG) 3_yall 48kl Cuwal .(0.05 M) Jolay H3PO, ol 5inill (mals

Jall

*s (01 —0) Al UJLI.JE Slasinils

AG® = —RT (Product)

(Reactant)
Zufﬂ LN ?Li_)\” U gaal) 20 g
AG® = - (1.987) (311) (2.3) log Q;%)(()%ﬂ

AG® = —3.37 Kcal / mole
(VE-0) Jla

A2 o HaPOys 58 555580 £u ) L3 Ja glucose -6 - p JSd
Aayddul 801 M glucose -6 - p S5 ) (7) S pH5°255 )~
s Ll s LoVl glucose — 6 —p Sul (4 0.5 % (b ) 59
.glucose - 6 - p Sl (st Keq -
, Jaall JelWAG —w
-H3PO4 J;SQISI‘ U= glucose - 6 - p 48 05Sy il JellllKog —
-glucose -6 - p (S Je SAG -2
Sl
tS 58 kel Jelial o

Glucose -6 - p + H,0 glucose + H;PO, ..(1A-0)

(VS Keq ool 5 als oS

vov @




Keq = — rcose) (,P0,) . (38-2)
(H,0) (glucose -~ 6 ~- p)

Jdelill o3a A glucose ~ 6 — P S i cwasy
Glucose-6-p =0.01 M --(99.95% x 0.1)M
= 0,10 M - 0.09995 M
=0.0005M
=05 x 10* M

glucose j»3 55580 58 5 g
glucose = (0.1 X 99.95% x0.1) M’
= 0.09995M = 9.995 x 1072 M

H3PO, S 5 iy

HsPO, = 0.09995M = 9,995 x 1072M
H,0 =55M eled 38 i i
) Jeang (19-0) 2 ol Alaad 3k

(9.995 x 107)(9.995 x107%)
(0.5 x107)(55)

Keq actual =
Keq actual = 3.63

Q_':?EKeq U)S:\;IS;L:J‘ JfSJjC“""f‘H‘\.‘J

(9995 x 107)(9.995 x 107*)
(0.5 x10™)

Keg

Keq = 199.8
:gﬁ_j AG (TN (0""°) z\..oi_).n“ alle dLu:LuL: ~ea
AG = —RTinKeq

AG = — (1.987) (298) (2.3) (log 199.8)
AG = —(1.987) (298) (2.3) (2.3)

VoA LZS




o— —9
AG = - 3.140 Kcal / mole

:q.ﬂ‘ PARR} d:.h“.d Keq i T

glucose + HisPO; — glucose — 6 —p ceeeY 0 —0)
_ (glucose — 6 — p) e{V1-0)
(glucose)(H,PO,)
1 iy VL g s 0
(0.5 x 107)

Keg =
#1= (990 x107)(99.9 x 10°2)

Keq = 5 x 107?
1Y (00 —0) Wladd Raxiudy clliy glucose = 6= P (4SS JeWAG s =2
AG = -(2.3)(1.987) (298) (log5 x 107%)
AG =-(2.3)(1.987) (298) (log 5 + 107%)
AG =—(2.3) (1.987) (298) (+ 0.7 -3)

AG =-{(2.3)(1.987) (298) (— 2.3)
AG = + 3.140 Kcal / mole

(o —6) gt
PH;°:37 3 ) ;2 i nglucose — 6 —p Sull Nl AG e ol
J—S 580 5 08 ol 8 A0 A L gl il AN gl 3 (7) 00
(1075 (107°M) 5 (107°M) A 5luse HyPO, all ;5SISH y glucose — 6 — 5 e
. S5 LK 200 Jstey Keq I 4 2l o 2M)

U
108 W gl (EA-0) Adled) Jlaadly

AG = AG" + 23 RT log 8U0s9)E,PO,)
(glucose — 6 — p)

LTS AG® uas (N

yoq @




AG® = — 2.3 RT log Keq

AG® =-—(2.3) (1.987) (310) (log 200)
AG° = (- 2.3) (1.987) (310) (2.3)

AG® = - 3.25 Kcal / mole

:(i/\"‘o) Al e AG sy ?:n

(107)(107)

AG =-~-3.25 + (2.3) (1.987) (310) log (107

AG =-3.25 + 1.12log10™
AG =-3.25 - 5.65
AG = - 8.90 Kcal / mole

(Vi-e) Jua
acetate , malate; oxaloacetate < S w2 aly iy o
b Al (8 aad g il asa 5S3l eladl (e 4418 4,8 acetaldehyde
25255 )=

LAY 5 23SV Dl ity Adlatall e s st -

gl Jaladl galay Jal o8 Sl palay sy G S0 Al —o

Keq ) AG ) AE s —— o

sl
oxaloacetate + 2H* + 2e — malate e (VY =0)
E, = —0.102 voit
acetate + 2H* + 2e — acetaldehyde ve(¥T-0)

E'o = - 01600 VOIt
Lol i Slelid sy 13g]y dnladd 20 530 Qe 81 e J5¥) Jelid o S
LS Melis any S Jeladh Ly

WS




- —D
Y8 Cpleliill can 5 oS

Oxaloacetate + 2H' 2e -» malate
acetaldehyde — acetate + 2H' 2e

oxaloacelate + aceldehyde — malate + acetate ...(Vi-¢)

-malate 1 J i, oxaloacetate —«
.acetate ) 1.5 acetaldehyde

a5l Jalall 2 oxaloacetate

Jaad Jatadl 2 acetaldehyde
(Vo—0) 2ad yall Askadl Jlaniady 4 E'g o ——

E, =- 0.102 - (- 0.600)
E', = + 0.498 volt

AG =~-n F AE'O
AG ‘-_—lea._g
AG =-(2)(23000) (0.498) = 23000 cal / mole
AG = — 23 Kcal / mole Keqlua 4
AG = -~ 2.3 RT log Keq
- 23000 =-(2.3) (1.987) (298) (log Keq)
logKeq = 2300 =16.85
(2.3)(1.987)(298)
Keq = antilog 16.85
Keq =7.08 x 10
(YV=2) Jla

Riboflavin ; Succinate ; Fumaiate —s JS 00 0.01 M o 5 5iay Jglaa

v11,2%




—e

9

; {
AE_1l '.__h.naU dc-Lﬁl'l alilaa g_ﬁs‘ .0(30 3_)‘); 3.;_):._: an 2 riboflavin — Hz_g

- Jeil
Sl
o A Ay Ak, dlad) colelial Giliasi o
1- Fumarate + 2H* + 2e — Succinate (Yo-o)
E, = + 0.030 volt
2- Riboflavin + 2H* + 2e — Riboflavin — H, ...(Y1-2)
E, =-0.200 volt

Jel il Laiy 3 5iab Jelis 5oy dplagd SISV A V) d6D 53 58 JgY1 Jelini

res AL 8l s Lol Nlelis (58,

Fumarate + 2H* + 2e - Succinate
Riboflavin - H; -» Riboflavin + 2H* + 2e

(Yv—e)
Fumarate + Riboflavin H; -» succinate + Riboflavin
S gl Jalall 44d J al 28 Fumarate U -,
Jsdl Jalall 53 286 38 Riboflavin — H, i

. 23RT oxidized form
E=E + log -
nF reduced form

E =E + 2.3RT Iogﬂ
nF 0.1
9
E, =E, + 23RT log 1
nk
E‘ = E’o + 0




AE = AFE, o
AP, = E', of half reaction containing oxidizing agent —
E’, of half reaction containing reducing agent
AE, =0.030 - (-0.200)
AE, = 0.230 volt
(YA-2) Jla

ascorbate,— 0.2 M ; dehydrouscorbic i (e 0.2 M e 5 5isy Jslaa
ethanol ; acetaidehyde 0.01 M o 55 Jsdao o sl paa po Ll 08

001 M
et alae st -1
‘AEO L_Lu.:xt T e
el
1- dehydroascorbic acid + 2H* + 2e — ascorbate (YA=0)
E, = 0.06 volt
2- acetaldehyde + 2e + 2H' — ethanol cnr(Y4-0)

E. = —0.163 volt

oSl o Uy B AW e SV Jelidh o

dehydroascorbate + 2H* + 2e -» ascorbate
Ethanol —» 2H* + ze + acetaldehtde

dehydroascorbate + ethanol - ascorbate + acetaldehyde —©)
(A
Jal sl 5 s ethanolyls Jl i—ab ai auS3all Jeladl ga dehydroascorbate.
tdd 05K (0Y—0) Unkaal Bakiy s auSh 5 J il
AE, = 0.06 —(-0.163)
AE, =0.060 + 0.163
AE', = 0.223 volt

Viv @S




(Ya-2o) Jla

J— .1.2 electron volt s AE [pauS ¥y Caa g puedl O gl (308 (813
sl cuS AU W clall 50SY (600 NM) jeal¥) ¢ guall 4 A4S Qs 2a 5
g s S 23 keal 3 ga s Lile

eLall 3auS) g A0 AY) 38D (58 e Ladlll ABULY Cawad —Y sl

AG = —nFAE _
AG =-(1)(23)(1.2) =-27.6kcal

ea¥ ¢ sall e Aadtl AUl s -0

E = 2.86 x 10"
A
8
g - 280x10° _ 48 « 10°cal
600 x 10
3.
E = 48 x 10 = 48 keal
1000
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Al df

os—lad oy 0 entropy Ly —Sall cuilS 6l 5005 ) ja A 8 S (V0)
10321 5oLl enthalpy - 4. () 5 3.257 cal / deg / mole »
5_all B3 sl Lcal / mole

entrhalpy N ISP L N ¢ UM 1000 : ) iap ‘_‘_1 (\'—0)
8057 cal / o-» LW e sy I Apuminum monofluoridecs
entropy—) —uual .—53.429 kcal / mole <uilS 3 jall 4l f y mole
Agtal A ol oda 4

Aol ool Ay daly g sa daias 8 Y il entropy—) cal (Y-0)
Ayl
-O¥\S 400, 300, 200, 100

A D gl iy OIS 2005 ) Ax Ly S Y il entropy—d cauad (£-¢)

(s bia 25,15, 1

726 cal [ a2 aly gy daina cal S Y el enthalpy—d 4.4 () (0-¢)
GilS 2005 ) s sy 1254 cal / moley (A0S 100 5 ) s sy mole
3l o2l s el AN Caal . (£-0) W) 8 entropy_d 8 Juesiulys
.L)GRSZOOJI.OO-OJ_PQBJJ Uj-’ h‘J‘;PL‘A‘L’—I&:‘

2,775 aalj (55 Jaiuia Znd (a y suill Gibbs Free energy 4. (f (1-2)
i -3.865 kcal / mole (il < 2005 ) . ia sy —kecal / mole
t._.i__..u-_-J .qd_}_LJ—ASJ‘)LI‘aAJJCAJeﬁn U‘U“'J‘h‘ .UﬂSZSOBJ‘_);
.GilS 225 3 4a v entropy—

B0 dan dy aaly 55 daiia Gl (oS, entropyd A o (Y-0)
L8l 4 padl il L2043 cal / deg / mole » (&lS 150, 100 ()
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TS PR RNAGE I NP

1000 Al gl s ) p—all Dl 5 g1a A Jpa g ull 5 sall 48Lh] L8 ) (A-2)

AG cal / deg /

mole S B e Aa o
~-732 100
- 1718 150°
- 2775 200
- 3865 250
-~ 4954 298

Coaii, ol AL al sl b Rl o sl el g gl of i i
saa s tilhodgd Al jaial au f s 10 atm; 0.1 atm 55 bia
s sl Ry miad Lavie Ul el olgha el o 5SO¥1 S 1Y (3-¢)
| tm @NEropy ) Ae e s S 5 el Aa 0 ) (Glladll ial
.Sackur- Tetrode 4l:a. Jlaeinly
oy e beal M oSOV entropy—d JE 4 U aiall caa (Y < -c)
c gt Sl & gl dlluy oSV S 1Y S 1008 ) s

el Jol il 7.5 sl pH 2,25 5 b ka0 5 26 ) (4) -9)
1SS aldolase ~ 3Y,

Fructose — 1.6 - glyceraldehydy + dihydroxyacetone
diphosphate 3 —phosphate  phosphate
’ .10~4—,’ B
a5 Allas |58 53 glyceraldehyed - 3 - phosphate S ji sl -
4 + 10%;Fructose diphosphate  —« 2x10°M




.diphydroxyacetone phosphate -
Fructose — <51l .Aldolose ;3L eluad Jeliill AG cual —~o
.diphosphate

glyceraldehyde 3 — phosphate — < 42l Jel ill AG coval —a
J—S 38 5 0658 Al Gkl wal dihydroxyacetone phospate 5
107 o gad) o2

1048 4N G 2D Gy 107 Mo fiy LN G HPOL S5 ) (1Y-0)
ALY gl Ciad ATPUA AG cual)
(-Jas5 AG (S5 Lexie ydiuy (P - P) pyrophosphate i Jlas of (YV'—0)
s» o — glycerophosphate S ). Jlaii Keq (5 7000 cal / mole) .

a— glycerophosphate [ Si a picdl Jelilll AGy keq aual 1100
.pyrophosphate 5 (glycerol) (Sl

glucose ~ 1 - p,— Js% 3 Fructose diphosphate S .« (o (1 £-°)

A 5 Ailaie el 2D
Fructose + H,0 —Lnosphatase o . tose —6 —p + HyPO,
liphosphate AG; = — 3800 cal / mole
“osphohexo
Fructose — 6 —p — P > glucose —6-p
Keq2 = 20

phosphogluco—
Keq3 = 0.052
(el Jelill AG, Keq il . Claslaali 038 e

glyggse —6-p

1 (PEP) phosphoenol pyruvate S al Jla®l AG I caual (V0-0)
Y Gl gleddl o pyruvate <8 ; H3P04

\w,@<




pyruvic kinase

1- PEP + ADP

> pyruvate + ATP
Keq = 3.2 x 10°

2-ATP +H,0 —21P%%¢ . app 4+ H,PO,

AG; =-—7700 Cal / mole
1! Jelitl Jaal o 33U glucose =6 — p 3 38 5 caal (V1-0)
Glucose + ATP — glucose — 6—p + ADP
ATP 1075 SIS 1075M 25n 55 (ATP s 5880 03 5S5) LaSe 3 ) puas Ciray
ADP 10 M, M
j BUCOSC =6 7Py i g ks o Alla i S0 el (VV-0)
glucose -1 - p
ol S Al o S L wxie phos — phoglucomutase o 3 Jelis
: 32 glucose — 6 - P 3aldd

A M-
0.1 M-
107 M-
107 M -
1074 M ——»
Jelill Keq i
—=ghucose -1 —p glucose —6 —p
19 a0
t o) Jelill i S JSF 38 AN Ay ) Al b S0 AR el (V4-0)
isocitrate — glyoxylate + Succinate
1S iscoitrate I Jad 58 Al 5 S lavie
AM-
0.1M

‘111\@(




.- —e
001M-—
1073 M -
A0 M -
.2110 cal / male % iscoitratase ) Jelil AG o LS
Al Sl e 1M (e (0558 Jslas (Y4 0)
.acetoacetae —f
.pyruvate -
.3 = hydroxybutyrate ——
lactate -2
Al g a A AW sa SV Giga s e (63D Jel il Adles Sl
ASaliy g Al
Jo g audls g oSey (A S padd o
A Jeladl g S50 Jolall asl ——o
.Jelill Keq s AG 5 AE'Ocual =2

(—.0.01 M Ubiquinone >—0.001 M 1o 55 sy Jslaa (Y1 —2)
Fumarate Jlo (55l Jslaa (e 4 (5 5ls san ae = 52 28 Ubiquionone = H2
.Succinate 0.1 M 0.1 M
Al a5V e Y Sy s Jew g3 Jel il Abas i)
| RENPR TGP
Jetill Keq s AG 5 AE el —2
eyt el G (YY-0)
NADH2 —» NAD + 2H+ AE =-0.32 volt / mole
21/202 + 2H+ —» H20 AE = + 0.8 volt / moie
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FADH, __ y Reduction_potential il 5a¥i &l ol (YT-0)

rod TAPH: 5 5 0% Lasie Jelal st

.1073 i

0.2 ~—

I

3 -2

25 ——a

-400 —

U5 U DAl o Fumarate ; Succinate ¢ JS 38 5 culS 13 (Yi-2)

e _ FADH,
. B ——M—FAD

— 1 E0 (;Succinate % ;4,85 .Laal (S Jelinlh L _aad

Fumarate FAD
+ 0.030 —» ———— AEo ) LS-0.06 voit »————
succinate < FADH,

.volt

e A shall ka5l Al Cal .10—4 My

idalia s NADH2 33uS) (s Aadiall ATP <Y 3o 232 oS (Yo—0)
.FAD -

.Cytochrome —a-Fe™® -u

.oxygen -—

40 %  a Gl Jaia 3eUS () Loa i

ol (1-0) sl st Aa el 3 el dilal Gl las Jaatild (Y1-0)

| t VS elall g €O2 (e S 5l (0 4S5 Al
6 CO2 + 6 H20 > C6H1206 + 602

Aaldl gl S ol Alslas e (TY-0)

CH20 + 02 + H20 2H20 + CO2

(ATP) 2iUall 43S Caual 1.4 VoIt & AE 48 ()
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